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1 The number of atoms in a body centred 1 3fd: Ppl<sd U:ﬂquﬁwffmﬁaﬁ
cubic (bcc) unit cell of a monoatomic ﬂ'@ﬂfﬂ?ﬁ%
elementary substance is equal to

(A) 1 (B) 2
(A) 1 (B 2 (C) 3 (D) 4
(C) 3 (D) 4
2 Molarity of an aqueous solution 2 40g NaOH, 2 forexr ety faea= & Sufyd
Containing 40g of NaOH in two litre of 2, faeom &t dierar grh
solution is
(A) 0.5 (B) 1.0
(A) 0.5 (B) 1.0 © 15 (D) 0.75
@ 15 (D) 0.75

3 2CH.Br+ 2Na dovether oy oy |3 2 CHBr+ 2Na  dovether o oy oy o

2NaBr. 2NaBr.
The reaction is : Tg i g :
(A) Friedel crafts reaction (A) hied siue Ui
(B) Wurtz reaction (B) g‘éﬁ[ 3fffepar
(C) Fittig reaction © ﬁﬁ@ﬂ 3fffepar
(D) Wurtz Fittig reaction (D) e fpfe Sffiyfomar
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I When aqueous solution of NaCl is
electrolysed the product obtained at
cathode is

(B) Sodium metal
(D) Chlorine

(A) Hydrogen
(C) Oxygen
5 Which of the following is ore of iron

(A) Haematite
(C) Dolomite

(B) Cassiterite
(D) Bauxite

6 The most stable hydride of group 15
elements is

(A) NH;
(C) AsHs

(B) PH;
(D) SbH;

7 Which of the following is not a transition
element

(A) Fe
() Cr

(B) Mn
(D) Zn
8 CH3—CH2—Br + KOH (alo) 2> ‘A’ . Here ‘A’ is

(A) CHZZCHZ
(C) CH,=CH-Br

(B) CH5-CH,-OH
(D) CH5-CH;

9 An atom at the corner of a unit cell
contributes to the unit cell

(A) 1/4 (B)
(C) 1 (D)

1/2
1/8

10 Osmotic pressure of the solution can be
increased by

(A) increasing temperature of the solution
(B) decreasing temperature of the solution
(C) increasing volume of the vessel

(D) diluting the solution

4 NaCl & STeid f[daaH & degd 3dce o

FUS W U gid1 &

(A TESH  (B) MISTH U1g
© e (D)

5 T8 9§ gl (Fe) BT 3TH §

(A) gHCTSC (B) h¥ilcIsC
(€) (D) SIS

6 @ 15 % ddl BT aie WA are
RESIESH]

(A) NH;
(C) AsH;

7 =98 A S HshHUI I TS §

(B) PH;
(D) SbH;

(A) Fe
(©) Cr

(B) Mn
(D) Zn
8 CH3-CHo-Br + KOH g > 'A'. T8T 'A'8

(A) CHZZCHZ
(C) CH,=CH-Br

9 UPH® HIFYHT & B W IURIT BT I

(B) CH5-CH,-OH
(D) CH5-CH;

Thod HIYH & INeH gidl @
(A) 1/4 (B) 1/2
Cc 1 (D) 1/8

10 fIE T IRIRUI GT9 S/ o IhdT | :

(A) foea &1 aoHE d¢1 R
(B) fa@T &1 AUHA HH FR
(C) U &1 AT FGT IR

(D) faera &t Figal HH IR
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_1 The molar conductivity of an electrolyte
Increases as

(A) dilution increases

(B) temperature increases

(C) dilution decreases

(D) none of the above is correct

12 Mond's process is applied for the
purification of

(A) Fe
(C) Cu

(B) Ni
(D) Al

13 Covalency of nitrogen in N,Os is

(A) 2
© 4

(B) 3
(D)5

14 Aqueous solution of which of the
following ions is colourless

(A) Ti**
(€ Cr?

(D) S¢**
15 CH3 - CHa-1 + KCN@ig --> ‘A’ . Here ‘A’ is

(A) CH3 - CH,-NC
(C) CH;-CN

(B) CH3 - CH,-CN
(D) CHs- NC

16 The percentage of available space occupied
by spheres in a cubic close packing (ccp) in
three dimensions

(A) 26% (B)
(C) 74% (D)

52.4%
76%

17 The relative lowering of vapour pressure
in case of a solution of non-volatile
solute is equal to the mole fraction of
solute. The statement is based on

(B) Arrhenius law
(D) Ostwald's law

(A) Henary's law
(C) Raoult's law

11 dggd3gcd fdaaH &1 HieR dradhdl |

Q@Eﬁ?ﬁ%w:

(A) T H gfg BIe B

(B) dTHT H gf Bt 8

© T A B BN
(D) IWRIFd FIS ot Tt el g |

12 TUE fafe o1 YA forg o1 o =MeH & ferg
glaT e

(A) Fe
(C) Cu

(B) Ni
(D) Al

13 N,Os H ATZeIoM & Ug Yaoidhdl &

(A) 2
€ 4

(B) 3
(D)5

14 %ﬁﬁm&mmaﬁaﬁww

(A) Ti**
(eXesa

(D) Sc*
15 CHs- CHy-l + KCNpg —-> 'A'. T8T 'A'®

(A) CH3 - CH,-NC
(C) CH;-CN

(B) CHs - CH,-CN
(D) CH3- NC

16 ffam o i Ffde doaa & Suasy ®iHE &1
e eTT Trforeret vl g1 ORT e B

(A) 26% (B)
(C) 74% (D)

52.4%
76%

17 3famaRitd faoa 3@+ ara faqad o aryg
a9 3Miférep 3raa faoy & Hid-3i &
JHTU! BT 3] T8 9 fh g SR ©:

(A) BT &1 FaH
(B) IRefag &1 e
(C) I3ee &1 |
(D) 3RcATE &I HaH
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18 EMF of a cell with nickel and copper 18 M d TUT HIR sad@s aTel T T EM.F.
electrode will be : ﬁlﬂ?‘l@fl fear % :
Given : E°%?*/ni = -0.25V; E°N/ni = -0.25V ; E%®t/ ¢y = +0.34V
E°®/ cu = +0.34V
(A) 0.59V (B) 0.09V
(A) 0.59V (B) 0.09V (©) -0.59Vv (D) -0.09 V

(©) -0.59V (D) -0.09 V

19 The process of heating the ore in the 19 igﬁ iRl T 3D Pl TP b -1
excess supply of air below its melting &R DI UfHaT B FHed &

point is called
(A) e (B) Yo
(A) Calcination (B) Roasting (C) 3UTgd (D) U1

(C) Reduction (D) Smelting
20 %rgiaaﬁ 3T o AGHIRAD IdTead Pt fafey

20 Process for the commercial production of
nitric acid is

A R (B) siikears fafy

(A) Haber's process (B) Ostwald'’s process © T fafy (D) fem fafdr

(C) Contact process (D) Deacon'’s process
21 Cu?* 319 &1 SAdCId [ B :
21 Electronic configuration of Cu®" is

(A) [Ar] 3d? 4s' (B) [Ar] 3d° 4s°
(A) [Ar] 3d?® 45’ (B) [Ar] 3d° 4s° (C) [Ar] 3d’ 4s° (D) [Ar] 3d® 4s°
(C) [Ar] 3d’ 4s? (D) [Ar] 3d® 4s°
22 P A T A A FA BT A @ -
22 Density of a crystal is given by the
formula (A) a>M/ZN, (B) NaM/ZA3
(C) ZM/a®N, (D) a’Na/ZM
(A) a®M/ZNa (B) NaM/ZA3
(C) ZM/a’N, (D) a’Nn/ZM
23 An ionic compound has a unit cell 23T Ww?ﬁmmﬁw
consisting of A ions at the corners of the ﬁ:ﬁtﬁ A D ST GﬁT T & Al &
cube and B ions at the centres of the. WW B$W%|%WW

faces of the cube. The empirical formula RSIFEIR Fﬁm :

of the compound is
(A) AsB (B) AB;

(A) AsB (B) AB; (©) A:B (D) AB
Q) A:B (D) AB
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24 Colligative properties of the solutions
depend on

(A) size of the particle

(B) nature of the solvent
(C) number of the particles
(D) nature of the particle

25 On addition of glucose in water boiling
point will

(A) increase

(B) decrease

(C) remain unchanged

(D) first increase then decrease

26 For the half cell reaction
AG ) + €
electrode potential at 298 K will be :
Given: [Ag*] = 0.1 M and E° = +0.80 V

(A) 0.741V
(C)-0.741V

(B) 0.859 V
(D) 0.209 V

27 How many coulombs of charge is
required for reduction of 1 mole of
AP*to Al

(A) 96500 C
(C) 289500 C

(B) 193000 C
(D) 144750 C

28 Which of the following ions gives brown
ring test

(A) Nitrate
(C) Sulphate

(B) Carbonate
(D) Chloride

29 Catalyst used in Haber's process is

(A) Fe
(Q) V205

(B) Ni
(D) Cr

24 TaTT P U TUIEH 4 U1 8Id © o
MRk eag:

(A) DU & HR R
(B) fadds &1 Upfd R
(C) BN DI TSAT R
(D) BT DI UPHid R

25 O B qpISl M W A &1 Syl

26 298 K A UR &I 75 HIHRUI 8q (3¢ I
3ifYfesar ) o fayd &1 gh
AG'ag + €
f&ar8: [Ag'1=0.1Mand E° = +0.80 V

(A) 0.741V
(C)-0.741V

(B) 0.859 V
(D) 0.209 V

27 1A AP B Al H SUaRd a4 & fore
fhd Hora AR BT SATTADHAT G ?

(A) 96500 C
(C) 289500 C

(B) 193000 C
(D) 144750 C

28 34 9 fhg 3 & forw s Ry e
fpar Srar g 2

ORIE (B) BTETT
(C) Ithe (D) TARZS

29 TR Ay & ygad IARF 3§ -

(A) Fe
(Q) V205

(B) Ni
(D) Cr
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et 30 Which of the following has lowest 30 30 O fohden! SuAid AdH § ?
boiling point ?
(A) NH; (B) PH; (A) NH; (B) PH;
(C) AsH; (D) SbH; (C) AsH; (D) SbH;
CH2-CH; CHa-CH

31. + Ch % A. Here'Alis
Sunlight

Cl <H-CHs CH,-CH-Cl
(A) [:i] (B) [:i]
(CH;-CHs CH,- CHs
(D) @
Cl
> 'A'. Here'A'is

/CI
(€
37 Hs
@E + HI
|
| CHs Ho-l
(1) U ®)
|
Hs
I:C} O/(HS (D} Q/L
|

Heat -
31. al H 'ALTE AR
@ v Sunlight

Cl CH-CHa
(A)
CH,- CHs
/CI
(€

EY) [:ILW
+ HI
| Hs
(f

©) Hs

q_

CHz- CHz-Cl

CH,- CHs

cl

> NLTRAR

Hz-1
-
Hs
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34 Butan-2-olis a:

(A) 1° Alcohol
(B) 2° Alcohol
(C) 3° Alcohol
(D) dihydric Alcohol

OH

35, + (CoHsl

CHsO-

— > A" Here'A'is

" Br
-
Br

> 'A'. Here 'A'is

anhyd.CzHsOH

(A) C;H5-O- CyHs
(C) CeHs-O- CeHs

(B) CeHs-O- CoHs
(D) CeHs-l

33 @ + Brz

Br

Br
(A)

Br

© OLBr

34 ed-2-3M1a g :

(A) 1° Tchigd
(B) 2° Ushlgd
() 3° Uchigd

————> AR AR

(D) STSERIe® Tedhigd

OH

CHsOr

35 + CoHsl

(A) GoHs-0O- GoHs
(€) CeHs-O- CeHs

-
anhyd.C2HsOH

™~ Br
Je
Br

AL TR AR

(B) CeHs-O- CoHs
(D) CeHs-I

https-fbyjus.com
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> it vt & IR ifar € |
> PA3GTYE |
> TP UY & o 1 i iR g |

> U UY & IR fadbed & 71U § | 98 fased o1 907 Sifod |
> TTAd IR & o8 BIg 3 -5} BIc o |

1 The number of atoms in a simple cubic
unit cell of a monoatomic elementary
substance is equal to

(A) 1 (B) 2
(C) 3 (D) 4

2 Molarity of an aqueous solution containing
2g of NaOH in 200mL of solution is

(A) 0.5
G 5

(B) 10
(D) 0.25

3 When molten NaCl is electrolysed the
product obtained at cathode is

(A) Hydrogen (B) Sodium metal

(C) Oxygen (D) Chlorine
4 Which of the following is ore of
Aluminium
(A) Haematite (B) Cassiterite
(C) Dolomite (D) Bauxite

5 The least stable hydride of group 15

elements is
(A) NH;3 (B) PH3
(C) AsH; (D) SbH;

1. IXA 1 Thb HIBepT T BUN Dl AT
B g

(A) 1 (B)™"%2
(C) 3 (D) 4

2.2 g NaOH , 200 mL e faera= & Sufyd
%, IERRREIR: FR(‘IIEﬂTﬁ:

(A) 0.5 (B) 1.0
@ 15 (D) 0.25
3 %fdd NaCl & dggd SIge— §
PNS WU BIATS -
(A BIEGISH  (B) Wf$TH urg
(C) 3 (D)
4 99 Q TGRAFATH (Al) BT RS § -
(A) BHCTSC (B) BdIcRIZe
(C) SI@MIse (D) IIaSC

5 G 15 & ddl 1 gAdH [T aral
HESIESH

(A) NH;
(C) AsHs

(B) PH;
(D) SbH;
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6 Which of the following is a transition

element
(A) Fe (B) Hg
(O Cd (D) Zn

7 CH3-CH,-Br + KOH (,q) = ‘A" . Here ‘A’ is

(A) CH,=CH,
(C) CH,=CH-Br

(B) CHs-CH,-OH
(D) CH3-CH;

8 An atom at the body centre of a unit cell
contributes to the unit cell

(A) 1/4
(C) 1

(B)
(D)

1/2
1/8

9 Which of the following is not a colligative
property

(A) lowering of vapour pressure

(B) elevation of boiling point

(C) depression in freezing point

(D) relative lowering of vapour pressure

10 If 96500 C electricity is passed through CuSO,
Solution, it will liberate

(A) 63.5 g of Cu
(C) 127 g of Cu

(B) 31.76 g of Cu
(D) 95.25 g of Cu

11 Van- Arkel process is applied for the
purification of

(A) Fe
() Cu

(B) Ni
(D) Zr

12 Atomicity of phosphorus is

(A) 2
(C) 4

(B) 3
(D) 5

13 CH3 - CHZ_I + AgCN(alc) --> ’A’ . Here IAI |S

(A) CH3 - CH,-NC
(C) CH;-CN

(B) CH3 - CH,-CN
(D) CH;=NC

6 STH AP IHATTA G ?

(A) Fe
(€ cd

(B) Hg
(D) Zn

7 CH3-CHy-Br + KOH o > ‘A'. T8I ‘A'8

(A) CH,=CH,
(C) CH,=CH-Br

(B) CHs-CH,-OH
(D) CH3-CH;

8 The HIYDI P BN (body) TR IURIT HUI
P THS BB § ATGH gl 3

(A) 1/4 (B) 1/2
©) 1 D)  1/8
9 370 A B STy quigH TSR 2

(A) a1 g § 304

(B) SHYUID dTTHAM H IAT

(C) T&Hisd dTuaM H Sfa-TaA

(D) 9T &Td H TAfED SfT-TH

10 CuSO, & fa@Ta T 96500 C 3HTAT YaTed
B R faford grm -

(A)63.5g Cu
(C)127 g Cu

(B)31.76 g Cu
(D) 95.25g Cu

11 9 3MTcbel fAfY T YART forg o1 o RNe=
& feu g e

(A) Fe
(C) Cu

(B) Ni
(D) Zr

12 BRBRY & RRATUISAT § -

(A) 2
C 4

13 CH3- CHy-l + AgCNyo --> ‘A’ . T8l 'A'8

(A) CH3 - CH,-NC
(C) CH;-CN

(B) CH; - CH,-CN
(D) CH;- NC



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

14 The percentage of available space occupied
by spheres in a hexagonal close packing
(hcp) in three dimensions

(A) 26% (B)  52.4%
(C) 74% (D) 76%

15 What is the effect of temperature on
osmotic pressure of solution

(A) It decreases with increase in
temperature

(B) It increases with increase in
Temperature

(C) No effect of temperature

(D) it decreases first and then increases
with increases in temperature

16 Which of the following ions is coloured in
aqueous solution ?

(B) V3+
(D) Zn**

(A) Ti**
(C) Cu”

17 Close packing is maximum in the crystal
lattice of :

(A) face centred cubic
(B) body centred cubic
(C) simple cubic

(D) all have same value

18 A molal solution is one that contains one
mole of a solute in :

(A) 1000 g of solvent
(B) 1 litre of solution
(O) 1 litre of solvent

(D) 22.4 litre of solution

19 Copper crystallises in face centred cubic
lattice with a unit cell length of 361 pm.

What is the radius of copper atom in pm :

(A) 108
(C) 157

(B) 128
(D) 181

14 Bfon ¥ yeovlig Ao doa o Suasy wiF

1 faraT ufdrerd Ml gRT O_1 S @
(A) 26% (B)  52.4%
(C) 74% (D)  76%

15 faeTT9 & URRIRUT S1 WR dTYH 6T T

UHIG BT 3 ?

(A) T8 AgEH § 9fg 89 W gedr g
(B) UE ATUHM H gf 811 R dedl o
(C) dTYHTT BT PIg UHTT 7! 8idl ©
(D)Wﬁ%@@ﬁwwmm%

16?%@%%651&@3%@@%
?

(A) Ti*
(C) Cu*

17 3749 ¥ foby fobeciia Sirares # fAfds
T SMfdad g ?

(B) V3+
(D) Zn**

(A) TP BHisd g
(B) 3 dhfgd g1
(C) AT

(D) T+ &1 HH THE 8

18 Hiad faea I8 faaae & fod T Aia fad
IR B :

(A) 1000 g faerae® o
(B) 1 foex faem &
(C) 1 forex faamo® |
(D) 22.4 farex faaga |

19 PR BAD bisd g1 Thd Id H fhwedipa
B 8 | TP I & fbR &I dals 361 pm g |

PIT URATY b1 BT pm T 1 gRA ?
(A) 108 (B) 128
(@ 157 (D) 181
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21

22

23

24

25

26

A mixture two liquids A and B has boiling
point higher than boiling points of both
A and B . The mixture is :

(A) ideal solution

(B) non- ideal solution with negative
deviation from Raoults's law

(C) non- ideal solution with positive
deviation from Raoults's law

(D) normal solution
For a galvanic cell , which one of the
following statement is not correct

(A) anode is negatively charged

(B) cathode is positively charged

(C) reduction takes place at anode
(D) reduction takes place at cathode

What mass of glycerol( C3HgO3) should
be added to 600 g of water to lower its
freezing point by 10° C ?

(A) 496 g (B) 297 g

() 3109 (D) 426 g
During the extraction of iron, limestone is
added which acts as

(A) flux
(C) reducing agent

(B) slag
(D) gangue

The number of P-O-P bridges in the
structure of P4O1o.

(A) 3
@ 5

(B) 4
(D) 6

The number of vacant orbitals in the
valence shell of phosphorus is :

(A) 3
Q) 5

(B) O
(D) 6

Electronic configuration of Cu is

(A) [Ar] 3d° 4s°
(C) [Ar] 3d® 452

(B) [Ar] 3d" 45’
(D) [Ar] 3d" 452

20 GI'Sd A 3R B & 31 &1 &y A 3R B
T & HYFP T A 7, O ey
(A) 3nexf famem
(B) V3 & oW I HUMTHS fdaa
(C) T3e & TH T YATdD faareq
(D) At faera=

21 98 A BH I HYF Neafies A & forg I
TIE?

(A) TS B -TARE BT | |
(B) HUE Y-SRI BT 3 |
(C) TS W ITFEAIR |
(D) HUIE W I B |

22 600 g od | feRRId ( C3HgO;) @ fvait
a1 fidH WR 391 fgwies 10°C & 8 S |

(A) 496 g
(€)310g

(B) 297 g
(D) 426 g

23 e & Frepefor & <1 gRR firemar S g S
P PR :

(B) HTgH Bl 7RG
(D) AT B RE

(A) GTaP DI 8
(C) 3TTTH P! ARG

24 P4010 D1 WG F P-O-P I &1 IAT gRN

(A) 3
G 5

(B) 4
(D) 6

25%@@$W$&rﬁﬁaﬂ$&1ﬁﬁﬁw

(A) 3
@ 5

26 Cu P 3AGITH AT B ;

(A) [Ar] 3d° 4s°
(C) [Ar] 3d® 4s®

(B) 0
(D) 6

(B) [Ar] 3d™ 45’
(D) [Ar] 3d™ 4s?
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27 E%.4 of three metals A,B,C are
respectively +0.5V, -3.0V and -1.2V. The
order of reducing power of these metals
is :

(A) A>B>C
(C) A>C>B

(B) C>B>A
(D) B>C>A

28 The product/s of the following reaction
is /are:

dry eth
CoHs-Br + 2Na + CHy-Br — >

(A) Butane
(B) ethane, propane and butane
(C) propane

(D) ethane
LiAlH4 . .
29 CHsCHO + 2H — = 'A'. Here'A'is
(A) CH3CH,0H (B) CH;OH
(C) CoHe (D) CH,4
CHs
Heat -
cl % A. Here 'A'ls
30. " Sunlight
CHz-Cl

16
CHs
10
a
31 The IUPAC name of the compound
shown below is :

CHs
Cl
(B)
CHs
(D) @
Cl

Cl

|
@\ Br

(A) 2-Bromo-6-chlorocyclohex-1-ene

27 A9 Ugsit A, B Td C FT ECoq T HHRT:
+0.5V, -3.0V 3R -1.2V &, 37 urgaii

3T Tfad T HH BT
(A) A>B>C (B) C>B>A
(C) A>C>B (D) B>C>A

28 Fafafad siffear o1/& Iare g/ 8

C,Hs-Br + 2Na + CH3-Br M)
(A) g |

(B) S, MO T3 =2

(C) UIuA

(D) $84

g

LAIH: a2t
29 CHsCHO + 2H — > A - TELA

(A) CH;CH,OH (B) CH;OH
(C) CHg (D) CH,
CHa
Heat =
al H ‘ALTET AR
30. @ s Sunlight
CHx-Cl CH;
Cl
(A) (B)

CHs CHs
@ @ D)
Cl
Cl

31 &3 U AP BT IUPACATH R :

|CI

0\ Br

(A) 2-5H-6-FARITIAR - 1-5
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(B) 6-Bromo-2-chlorocyclohexene
(C) 3-Bromo-1-chlorocyclohexene
(D) 1-Bromo-3-chlorocyclohexene

32 Hydration of propene in the presence of

dil. H,SO, gives :

(A) CHs-CH,.CH,-OH
(B) CH;-CH(OH)-CH;
(C) CH3-CH,-OH

(D) CHs-OH

33 Reaction of HCHO with CH;-MgBr
followed by hydrolysis gives :

(A) CH3-CH,.CH,-OH
(B) OH-CH,-CH,-OH
(C) CH5-CH,-OH

(D) CHs-OH

H2504
443 K

34. C3Hs-0OH > A. Here'A'is

(A) CHZZCHZ
(C) CHsCHO

(B) CoHe
(D) CoH,

35 CH;3-CH,-O-CH; + HI

(A) CH3-CH,-OH + CHs-l
(B) CHs3-CH,-I + CH;-OH
(C) CHs3-CHy-I + CH;-I

(D) CH3-CH,-OH + CH5-OH

> Products are :

(B) 6-sHI-2-FR Tl
(C) 3-5HI-1- TR
(D) 1-5H1-3-FAR TG

32 a1 H,SO, &1 Iuffd & Tt &1 gis e
(SIS ) TRA R UM AT ©

(A) CH;-CH,.CH,-OH
(B) CH;3-CH(OH)-CH;
(€) CHs-CH,-OH

(D) CHs-OH

33 HCHO &1 3ifNfehar CH;-MgBr & 1Y SR
& 1C O YA WA ©

(A) CHs-CH, CH,-OH
(B) OH-CH,-CH,-OH
(C) CH3-CH,-OH

(D) CH3-OH

H2504

34. CoHs-0OH 243 K

>A TR AR

(A) CH2=CH2
(C) CH3CHO

(B) C2He
(D) GH,

35 CH;3-CH,-O-CH; + HI

>3dIG BN -

(A) CH3-CH,-OH + CH3s-I
(B) CH;-CH,-1 + CH5-OH
(C) CH;-CHy-I + CH3-I

(D) CHs-CH,-OH + CH3-OH
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ared Uy U < -3
| B Xl | v - RRd | 9w -1 ger30 e | quife - 35

> it st o IR AR § |
> $aUd B T35 1 |
> TP UY & fae 1 sid Meia g |

> TP UY & OR [doved I3 TN § | 96t fasbed &1 90+ Sifoh |
> TTAd SR & o8 Big 3 gl HIC S |

1. Which one of the following is non crystalline or
amorphous in nature?
(A) Diamond
(B) Graphite
(C) Common salt
(D) Glass

2.  An element with atomic mass 100 has a bcc
structure and edge length 400 pm. The density
of element is:

(A)10.37 gcm™
(B) 5.19 gcm™®
(©) 7.29 gcm'3
(D) 2.14 gcm™®

3. Coordination number of ClI" ion in NaCl
structure is:
(A) 2
(B)6
@3
(D)4

4. The point defect which lowers the density is:

(A) Frenkel defect

(B) Schottky defect

(C) Metal excess defect
(D) None of the above

1. it & 9 &9 31 319 sifthedia
Ui o182
(A) BT
(B) IpTsC
(C)‘V'IT'EIR'UTSMT:F
(D) Hi¥m @1

2 U dcd ORIhT URATY] GoTH 100 u €,
bec TR AT & | 3P Thdh HIFH B
fR 1 TaTS 400pm & | TBT Ui
BT

(A)10.37 gcm™
(B) 5.19 gcm
(C) 7.29 gcm'3
(D) 2.14 gcm®

3. NaCl B G H CI° 31 Pt GH-agH TS 8

(A) 2
(B) 6
3
(D)4

4.a§%§aﬁﬂﬁﬂﬁudw CLEERSIG]

https-{byjus.com
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5. 234.2 g of sugar syrup contains 34.2 g of
sugar.What is the molal concentration of
the solution?

(A)0.1Tm
(B) 0.5m
(C) 5.5m
(D) 55m

6. Faraday's law of electrolysis is related
to:
(A) atomic number of cation
(B) speed of cation
(C) speed of anion
(D) equivalent weight of metal

7. The charge required for reducing 1 mole of
MnO* to Mn ** is

(A) 1.93X 10° C
(B) 2.895X 10° C
(C)4.28 X 10° C
(D) 4.825X10° C

8. The Sl unit of molar conductivity is :
(A) Scm*mol
(B) S* cm-"
(©) S'em?mol™?
(D) Scm?mol™

9. Which concentration unit is independent of
temperature?
(A) Molarity
(B) Molality
(C) Normality
(D) Formality

10.200 mL water is added to 500 mL of 0.2M
solution. What is the molarity of the diluted
solution?

(A) 0.5010M
(B) 0.2897M
(C) 0.7093M
(D) 0.1428M

5.234.2g ©Fl & °id H 34.2 g AT
Iufyd g1 59 faaa &1 Adedr gift:

(A) 0.1m
(B) 0.5m
(C) 5.5m
(D) 55m

6. BR1S o1 fagyd fawye fan Tefia 8 -

(A ) YT T GRHTY] TBAT
(B) YT &I T1fd

(C) BUMI b i

(D) UTd T Tedifh UR

7.T& Oid MnO* &I Mn?** H 3fddhd
A & 7T 3Tawges 319 &1 HET
gt

(A)1.93X10° C

(B) 2.895 X 10°C
(C) 428 X 10° C
(D) 4.825X10° C

8. HIeR Il B S| THTS o
(A) Scm®mol ™
(B) S* cm-
© S em? mol™
(D) Sem™?mol?

9. Fufafea & ¥ &9 < gigar, aU R
ik 78t et 82

(A) AT

(B) HiaTard

(C) ATerar

(D) WIHedT

10.0.2 M & 500m| fae@a & 200 mI ST fHremar Smar
T U faerae ot HieRdT gnft ?

(A) 0.5010M
(B) 0.2897M
(C) 0.7093M
(D) 0.1428M
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11. Froth floatation method is used for the
concentration of
(A) oxide ores
(B) sulphide ores
(C) carbonate ores
(D) chloride ores

12. Calamine is an ore of
(A) Zinc
(B) Aluminium
(Q) Iron
(D) Copper

13.Flux (SiO;) is used to remove:

(A) FeO
(B) CO;
(C) SO,
(D) Cu

14. Hall Heraoult ‘s process is used for:
(A) Zn
(B) Mn
(C) Al
(D) Cu

15.What types of stoichiometric defects are
shown by ZnS?
(A) Frenkel defect
(B) Schottky defect
(C) Both Aand B
(D) none of the two.

16.The impurities present in a mineral is called
(A) flux
(B) gangue
(C) ore
(D) slag

17. Lucas test is used to distinguish between:

(A) primary, secondary and tertiary alcohols
(B) aldehydes and ketones

(C) benzene and toluene

(D) aromatic and aliphatic acids

11. Gigu1 & To1T T Wi fafd &1 SUANT 8idT @

(A) SIS A
(B) TBTIS D
(C) PTEMT 3D

(D) FIRTZS 3HTH

12. AR fhg®T 3 82
(A) fSis
(B) TegfAfay
(C) gl

(D) didT

1319 (flux ) Si0, BT IYTNT A9 A T fHT 3raT
PP foru foar o @2
(A) FeO
(B) CO,
(©) SO,
(D) Cu

14. BTd gRiee faft 1 ST e &
(A) Zn
(B) Mn
() Al
(D) Cu

15. ZnS gRI fHT UBR & IGIHHU 9 Uelfd

o STaT 82
(A) ThThd oI
(B) TTceh! G
(C) A 3R B gH
(D) T A Y BIS T5I

1631 B IUfRYT YfSTr Heamd 8 :
(A) GTTH
(8) T
(C) 3D
(D) YrgHcd

17. ST <X 1 TN forad fang ax &
forg faram e 8 2
(A) e, gl Td gedtaes Tebigiar
(B) TSETES Td dicH
(C) ¥ T A
(D) WHAfeeh Td Teiitbies 3w

https:fbyjus.com
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18.The resistance of a conductivity cell
containing 0.001 M KCI solution at 298 K
is 1500 Q .What is the cell constant if
conductivity of 0.001 M KCI solution at
298 Kis 0.198 x 10° S cm™'?
(A) 0.297 cm’’
(B) 0.448 cm’”
(€) 0219 cm™
(D) 0.112 cm™
19.Calculate the percentage composition of
solute in terms of mass of a solution
obtained by mixing 250 g of a 25% and 500
g of a 40% solution by mass.
(A) 35%
(B) 65%
(C) 55%
(D) 33.5%

20. The IUPAC name of —
H:CZ('H—(l'H—(‘H: — CH, —CH;
OH

(A) Hex-1-en-3-ol
(B) Hex-3-en-1-ol
(C) 1-ethylpropanol
(D) 3-hydroxyhexene

21. The product formed by the reaction of

H,OH*
CHy— CH = (Hy ——»

(A)Propan-2-ol
(B) propan-1-ol
(C) ethane
(D) Ethanal

22. Predict the product of the reaction:
(CH,),C-0CH;, ——

(A) butane and ethanol

(B) propan-1-ol and ethanol

(C) butanol and methyl iodide
(D) Ethanol and tert. Butyliodide

18.298 K R U ATdehdl Ud for9H 0.001M
Kkl faea 8 &1 UfaRiy 1500 Q © |1 afe Sg AU R
0.001 M KCI &1 ITdehdT 0.198 x10 >8I al 4
fRRI® gIm:

(A) 0.297 cm’”
(B) 0.448 cm’”
(C) 0219 cm’
(D) 0.112 cm™

19. SHAMTIR 25% faeTa T 250 g dUT
40 % faaa &1 500 g FHA™ R T4
Il faerg ¥ facid &1 geqam ufda=rd 1 ghm?

(A) 35%
(B) 65%
(C) 55%
(D) 33.5%

20. Fgfeafad &1 IuPAC AT BT
HC =(‘H—(|‘H — CH, —CH, — CH,
OH

(A) BH-1-39-3-3{Td
(B) Be-3-81-1-3Tdl
(©) 1-sdtaurgAra
(D) 3-

21.?@%@@3@3@3

H-O/H™
CHy;— CH = CH:—:—»

(A) UTOAT -2-3{fd
(B) UTUHT-1-3Td
(©) 344

(D) AT

22. JfAfpaT &1 IATE FdTd -
(CH,),C-OCH, ——
(A) I TUT QYT
(B) UTUHT-1-3{Td qUT TUTATA
(C) AT quT A Terss
(D) QYIS YT tert SICTUA SMAISISS

https:fbyjus.com
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23. One important method for preparation of
ether is:
(A Wurtz reaction
(B) Williamson synthesis
(C) Friedel craft's reaction
(D) Etard reaction

24.Which of the following is steam volatile?
(A) o-nitrophenol
(B) p-nitrophenol
(C) o-cresol
(D) hexanol

25. Which of the following has highest acidic
character?
(A) o-nitrophenol
(B) p-nitrophenol
(C) 2,4 -dinitrophenol
(D) 2,4,6-trinitrophenol

26.Which of the following will react faster in
SN2 reaction?
(A) CH5Cl
(B) (CH3),CHCI
(C) CHsl
(D) (CH3)5CCl

27. Which of the following has highest dipole
moment?
(A) Methyl chloride
(B) Methylene chloride
(C) Chloroform
(D) Carbon tetrachloride

28. The products of the following reactions are:

CH.CH,CH,OH +SOCl, ——
(A) CH3CH,CH,Cl + SO, + HCI
(B) CH;CH,OH + H,0 + SO,
(C) CH3CH,CH,SO;H

(D) CH3CH=CH, + SO, + Clz

23. 3R §F S U HedYU! [afd g:-

24. Fgfafad 7 9 o aw=hd 3:
(A) o-TSCITthAId
(B) p- TSI
(C) o-HIId
(D) RIS

25. fafafad 4 9 feye! smiia uspfa
gaffis g2
(A) o—:ﬂ%{_@ﬁ?_vlj?l
(B) p- RGBT
(C) 2,4 -

(D) 2,4,6-CISATR I

26. Sy2 SMffpaT » ufd FE A A
oy 3ifYe foraria g2
(A) CH5Cl
(B) (CH3),CHCl
(C) CH;l
(D) (CH53)3CCl

27. Fraferfed @ @ feae! feeel smguf waffe 82

(A) BT FARTSS
(B) frﬁf%ﬂg%h%’
(C) C N

(D) BTa CCTHRIRTZS

28. T 3T &1 I &

CH.CH,CH,OH +SOCl, —»
(A) CH3CH,CH,CI + SO, + HCl
(B) CHsCH,OH + H,0 + SO,
(C) CHCH,CH,SOsH

(D) CHgCHZCHz + SO, + Clz



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

O [
29. Haloalkanes react with AgCN to give 29. §lTehH, AgCN & 1Y AfUfhaT X
e
(A) isocyanide (A) TSANTTARS
(B) cyanide (B) "A1IIgS
(C) nitro compound © :Tfs'ff?ﬂﬁa?
(D) alcohol (D) 3fchigel
30. Which of the following does not exist? 30. fA9 A 3 forgapT Sifaa T8t 87
(A) PCls (A) PCls
(B) NCls (B) NCls
(C) AsCls (C) AsCls
(D) SbCls (D) SbCls
31. Identify the oxoacid in which P exist in +5 state: | 31. +5 ST FTHRUT SaRYT TS HIThIRY
& SRfTSRT Bl UgdM :
(A) H3PO; (A) HsPO;
(B) H5PO0, (B) HsPO,
(C) H3PO, (C) HsPO,
(D) H4P206 (D) H4P20s

32. In nitrate ion (NO3), the hybridisation of N is :
(A) sp
(B) sp
Q) sp’
(D) spd

33. Zn is not a transition element because:
(A) it has fulfilled d orbitals
(B) the last electron enters in s orbital
(Q) it has vacant d orbitals
(D) it is not a d block element

34.Which of the following will form coloured
Compounds ?
(A) Sc**
(B) Mn**
(C) Zn**
(D) Ti**

35.The spin only magnetic moment of M** ion
(Z=27) is:
(A) 8.37BM
(B) 3.87BM
(C) 6.92 BM
(D) 1.44BM

32.913¢e (NO;) 3T B N B TH0T SR &:
(A) sp
(B) sp”
(C) sp’
(D) sp’d

33. Zn shHUT YT el § Tl -
(A) d e quld: HRT g3 §
(B) 3ifaH 3oiae s He&f A W1l &
(C) TP U 3V d- H&b §
(D) U8 U d-sd(h dcd e &

34. FgfaRad A @ &F I1 3= T Afe s=rar 872

(A) Sc**
(B) Mn**
(C) Zn**
(D) Ti**

35. M** 3T (z =27) BT D17 3Tl &:

(A) 8.37BM
(B) 3.87BM
(C) 6.92BM
(D) 1.44BM

https:fbwjus.com
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P FREUS Qe SIHH Td e uikyg e, FREvs
UYH Frafdieh L&l 2022-2021
AlSd U 0 JAc -4
B | fawa - 3R | §HY - fBFC 30 Her 1 | guifes -35

> it sl o IR Mfard € |
> $A35 A
> TS Uy & fare 1 s Reufia g

> TP YUY & IR [ded G U S | I8 e &1 9 Siod |
> TTAd IR & T BI5 3 gl Pl ST |

1. The molarity of pure water is: 1. Y& O B! AR &:
(A) 100 M (A) 100 M
(B) 55.55 M (B) 55.55 M
(C) 50 M (C) 50 M
(D) 18 M (D) 18 M

2. Colligative properties of a solution
depends on:
(A) nature of solution
(B) nature of solvent
(C) number of solute particles
(D) number of moles of solvent

3. Which of the following shows positive
Deviation from raoult’s law?

(A) CgHg and CgHsCH;
(B) CgHg and CCl,

(C) CHCl;and C,HsOH
(D) CHCl; and CH;COCH;

4. 31 g of ethylene glycol C,HsO, is mixed
500 g of water. The freezing point of the
solution is:

(Ke= 2 K kg mol™)
(A) 373K
(B) 271 K
(Q) 273K
(D) 180 K

2. faerg &1 3uRe TureHd AR #Rar 8

(A) faeT &1 Upfd R

(B) facI® Bi UPpfd W

(€) faca & Hull & JB R
(D) facmas & Aiel Bt I=_AT R

3. 390 9 B 1 faag I8 & Fam 3
¢S faaad UefRid Har g2

(A) CeHg 3R CeHsCH3
(B) CeHe 3R CCl,

(C) CHCl; 3R C,HsOH
(D) CHCl; 3R CH5COCH;

4. 31g QYA TAZHIA DI 5009 ST H fHemn
ST 8 | faerae o1 fgwi &
(K= 2 K kg mol™)
(A) 373K
(B) 271K
(C) 273K
(D) 180K

s byjus.com
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. Tetragonal system has the following unit

5. 390 J D AT fgaqHaae (tetragonal) Thdb

cell dimensions:

(A) a=b=c,a=p=y=90’
(B) a=b#c, a=B=y=90°
(C) a#b#c,a=R=y=90"
(D) a=b#c,a=B=90" y=120

6. Which of the following is the correct
configuration of Fe* (Z=26)?

(A) [Ar]4s?3d°
(B) [Ar] 4s*3d?
(©) [Ar]3d®
(D) [Ar] 4s*3d*
. Which of the following has highest
melting point?

\l

(A) ionic crystals

(B) molecular crystals
(C) covalent crystals
(D) metallic crystals

®

Leaching is a process for:

(A) reduction

(B) concentration
(O) refining

(D) oxidation

9. Which one of the following is an oxide
ore?

(A) Malachite

(B) Copper glance
(C) Haematite
(D) Zinc blende

10. Ammonia can be prepared by:

(A) ostwald process
(B) solvay's process
(C) haber's process
(D) contact process

HIFDT T BT ATAH §?

(A) a=b=c,a=B=y=90°
(B) a=bzc, a=B=y=90"
(C) a#b#c,a=p=y=90"
(D) a=b#c,a=p=90"y=120

6. 378 T Fe¥*(Z= 26) FT TG SAFRID
NIy %:

(A) [Ar]4s°3d°
(B) [Ar] 4s3d
(C) [Ar]3d°

(D) [Ar] 4s*3d*

7. Fufiad 7 feae! gaie siftiedn 82

(A) 3OS fheed
(B) 3MTfUae fopeed
(C) gegareh foeted
(D) YUTfde foheed

8. T (leaching) Ufohrar 87

(A) 3BT
(B) TI<UT

(C) Tme

(D) SHTRITHRT

9. 3TH Y DI HTRISS TP &7
(A) TP

(B) PITR AT
(c) gHeTRE
(D) i s

10. ST 99F &1 f3fY 8

(A) Siearcs fafy
(B) Hied fafdy

(C) TR fafy

(D) Tuef fafy

httpes:fbyjus.com
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12.

13.

14.

15.

16.

... Which of the following acids is a dibasic

acid ?

(A) HsPO;
(B) H3PO;
(C) HPO;
(D) H3PO4

Which of the following is the strongest
base?

(A) AsHs
(B) SbH;
(C) PH;
(D) NH;

The hybridization state of central atom
in PCl; is:

(A) sp’d
(B) sp*d?
C) sp’d?
(D) sp’

The synthesis of alkyl fluoride is best
accomplished by:

(A) finkelstein reaction
(B) swart’s reaction

(C) sandmeyer’s reaction
(D) wurtz reaction

Identify the following reaction:
C2H5C| + 2Na + C2H5C| > C4 H1o +2NadCl

(A) finkelstein reaction
(B) swart's reaction

(C) sandmeyer's reaction
(D) wurtz reaction

The best method used for the
preparation of alkyl chloride from
alcohol is by treating the alcohol with:
(A) PCI5
(B) SOCI, in presence of pyridine
(C) PCl3
(D) dry HCl in presence of ZnCl,

11. 399 T B T 37 fgamig 82

(A) HsPO;
(B) HsPO;
(C) HPO;
(D) H3PO4

12. 98 A B 91 Uadl &R 87

(A) AsH;
(B) SbH;
(C) PHs
(D) NH;

13. PCls % SHe1d URHT] & YHR0T AT §?

(A) sp’d
(B) sp’d?
Q) sp’d?
(D) sp’

14, 3fchIed WIRISS §1 &I Ia9 fafy g7

(A) fhperdia aififrar
(B) W< 3ffiifemar

(c) JsuTR ifYyferar
(D) geot Sifferar

15. 99 SifNifshar o1 ugam:

C2H5CI +2Na + C2H5CI 9 C4 HlO +2NaCl

(A) fhopere sififoran
(B) wTc Sffufepar

(c) JsaTR ifYyfpar
(D) gct Sffiferan

16. 3PS FARISS S Pt Uh 394 fAfr g

q 3fchled Bt MfNHaT w08 ST

(A) PCIsY
(8) SOCI, ¥ (AR ot Iufufa H)
(€) pCl, T

(D) B HCl (ZnCl, BT Jufyfa 1)

httpes:fbyjus.com
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17. The density of Chromium is 7.2gcm™.

If the edge length of the cubic cell is

289 pm, what is the type of unit cell?
(atomic mass of Cr=52 gmol™)

(A) bcc

(B) fcc

(C) simple cubic

(D) none of the above

18. Which of the following is paramagnetic
in nature?

(A TiO,
(B) NaCl
(@ N

(D) CuO

19. Frenkel and Schottky defect both are
found in:

(A) AgBr
(B) AgCl
(C©) ZnS
(D) NaCl

20. Saturated solution of KNOj is used to
make salt bridge because:

(A) Velocity of K" is greater than that of NO5’

(B) Velocity of K" is less than that of NO5’

(C) Velocity of K" is equal to the that of NO3~

(D) KNOs; is highly soluble

21. For a redox reaction to proceed in a cell,
the EMF must be:

(A) positive

(B) negative

(C) zero

(D) none of the above

17. PP HTYIQ 7.2 gem™ 81 TS Thb
DIPHT TG 81 TUT HR B! GaTs 289 pm
Bl dl Tha PITFPI B! UPM o
(Cr T URHATY G&HT = 52 gmol ')

(A) bcc

(D) STHY DI ol

18. TTH ¥ B VTP g2

(A) TiO,
(B) NaCl
(C) N,

(D) CuO

19. 399 Y frad Thva SR Teap! gFf g
T ST 27

(A) AgBr
(B) AgCl
(Q) ZnS
(D) Nadl

20. YJ& KNO; T SUIRT 0T ¥ &4 o fefw
fopar ST § o -

(A) K* 3T BT 3T NO, 3T T 34fdh gidT 8
(B) K* AT BT AT NO, 319 J HH BldT §
(C) K* 31T BT AT NO,™ 31T & SRIeR 81l &
(D) KNO, OTd H 3 ga=id ]|

21 fordt Ia A YSa ifHforar g9 & forg
3Y&HT EMF 8RT:

(A) SFTHSD
(B) BUTHD

(© T3

(D) 399 q HIs 8l
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R A galvanic cell is constructed with 22. Zn*/zn (E%=-0.76V ) 3R Fe?'/Fe
Zn%*/Zn (E°= -0.76V ) and (E° =-0.41V) SAGCIS AT NAAP A BT
Fe**/Fe (E° = -0.41V) ectrode . The emf EMF §:
of the cell is:
(A) -0.35V
(A) -0.35V B) +1.17V
B) +1.17V (©) +0.35v
(C) +0.35V (D) -1.17V
(D) -1.17V
23. Consider the reaction: 23. g arfuferar § 974 areT Ide %:
Ce¢HsOH + 3HNO; (conc.)=> ‘A" + 3H,0 C¢HsOH + 3HNOs (conc.)=> ‘A’ + 3H,0
Product ‘A’ is:
(A) o- TTECIhAId
(A) o—nljcrophenol (B) p- H’I’{@ﬁFﬁﬂ
(B) m-nitrophenol
(C) 2,4 -dinitrophenol (C) 24 -8R ”55” el
(D) 2,4,6-trinitophenol (D) 2,4,6- mﬁ’_“ﬁﬁ
24. Lucas reagent is: 24. ghld HHHD B:

(A) anhydrous ZnCl, and conc. HCI
(B) anhydrous ZnCl; and conc. HNO3
(C) aqueous ZnCl; and H,SO,4

(D) anhydrous ZnCl, and dil H,SO,

25. The IUPAC name of CH3CH,OCH(CHs), is:

(A) isopropoxyethane
(B) 2-methoxy butane
(C) 1-methyl-1-methoxy ethane
(D) 2-ethoxy propane

26. C2H5ONa + C2H5| > C2H5OC2H5 + Nal is
called :

(A) Finkelstein reaction
(B) Swarts reaction

(C) Williamson synthesis
(D) Wurtz reaction

(A) 3FTE ZnCl, Td Fig. HCl
(B) 3T ZnCl, Td TG, HNO,
(C) STeid zncl, TF H,S0,

(D) 3T ZnCl, T TG, H,S0,

25.  CH;CH,OCH(CH,), T IUPAC -TH §?

(A) MESIYUIFIZAT

(B) 2-fdiitege

(€) 1-THursd-1-fedizda
(D) 2-SYIFIITA

26. Cz SONa + CzH | > Cz 50C2H5 + Nal.

3if¥ifepar Seard &

(A) Thobardla aiftifehan
(8) wTc 3ffHfehar

(c) faferae= dwawor
(D) gt Sifferar

g
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<. Which of the following does not react
with sodium metal:

(A) (CH3).0
(B) CH3;CH,OH
(C) CH;COOH
(D) CeHsOH

28. Among the following substances lowest
vapour pressure is exerted by;

(A) CGHsOCHs
(B) C;HsOH
(@ HO

(D) Hg

29. If a current of 1.5 ampere flows through
a metallic wire for 3 hours then how
many electrons would flow through the
wire?

(A) 2.25 X 10%
(B) 1.13 X 10%
(€) 1.01X10*
(D) 4.5 X 10*

30. Nernst equation for electrode is based
on variation of electrode potential with:

(A) temperature only

(B) concentration of electrolyte
(C©) both A and B

(D) density of the metal

31. Formula of copper pyrite is:

(A) Cu,S
(B) CuFeS;
(C) CuO
(D) Cu,FeS,

32. Which one of the following is
diamagnetic in nature?

(A) Co**
(B) Ni®*
(C) Cu*
(D) Zn**

27. T8 Y S Na U1 & 1Y iNfehar Ta!
AT 87

(A) (CH3),0
(B) CHs;CH,OH
(C) CH5COOH
(D) CeHsOH

28. 379 ¥ fod yard &1 ATy I1e YTaH &7

(A) CGHsOCHs
(B) C;HsOH
(@) HO

(D) Hg

29. fordil 4T & AR I 1.5 amp &1 faggd URT 3
G2 e YaIfed P11t & | dR ¥ Yarfed
B aTel SeldeHI ! TS B

(A) 2.25 X 10%
(B) 1.13 X 10%
(C) 1.01X10%
(D) 45X 10%

30. T THIGU F IUR sAFIS fava
R Hare:

(A) HId qT TR

(B) degd 3fUTed Hiigdl TR
€) A3MRBIAMW

(D) YT & T7d WR

31. HIR USRIEC BT U G &:

(A) Cu,S
(B) CuFeS;
(©) Cu,O
(D) CuyFeS;

32. éﬂﬁﬁﬁquﬁuﬁwmw

(A) Co™
(B) Ni**
(c) cu®
(D) zn*
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33.

34.

35.

Colour of transition metal ions are due to
absorption of some wavelength. This
results in

(A) d-d transition
(B) p-p transition
(C) s-s transition
(D) d-f transition

Bromination of methane in presence of
sunlight is a

(A) nucleophilic substitution

(B) free radical substitution

(C) electrophilic substitution

(D) nucleophilic addition

The reaction of toluene with Chlorine in
presence of FeCl; gives predominantly.

(A) a mixture of o- and p- chlorotoluene
(B) benzyl chloride

(©) m-chlorotoluene

(D) benzoyl chloride

33. WhHUI YUTG3M o A UHIRT b RNl
FR 1 UERIA HRd 8| SHHT BRI &:

(A) d—dw
(B) p-p APHU
(C) s-s HhHUT
(D) d-f HehHUT

34. T4 BRI DI IURYT F HieH F1
Eﬁ?ﬂ;ﬂm%

(A) NS Hal T
(B) T A UFTRITI
(C) odeH Wel UfawTo
(D) NS Fel AT Siffehar

35. FeCl, ! JURRIFT H,cgs Bt sififesar
?ﬁﬂ;%muwﬁwa@rwﬁw

(A) o- TG p- FARICITS BT fHefur
(8) ISR
€ m-

(D) SN FARISS

httpes:fbyjus.com
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IRGUS QA ST T TiRremr gikee I, IREUS
TUH Hraieieh URA&T 2021-2022
red Uy U Jqc -5
| DHET - XII | oo -OIRIRd | 99 - 19er30ffEe | guie - 35
> Tt Ui &% SR AR B |
> PA3STYE |
> U Uy & fare 1 3 Meila g |
> TA% U4 & 9R adey el U ¥ | e e w1 PIRA |
> TAd SR & 108 g 3 gl PHIc oM |
1. Constituent particles of CCl, are: 1 CCl, & 3qgdl PUIE :
(A) lons (B) Molecules (A) ST (B) S1T .
(C) Atoms (D) None of these (C) TRHT] (D) TH I PR Tl

2. The oil used as frothing agent in froth
floatation process is:

(A) coconut oil (B) castor oil
(C) pine oil (D) None of these

3. A metal has fcc arrangement and edge
length of the unit cell is 400 pm. Its
atomic radius is:

(A) 124pm
(C) 142pm

(B)132 pm
(D)128 pm

2 T o fafyr § T siftpe & U |
I fHar Srar g

(A) TRTT dd &1
) s Fda &

(B) 3RS & dd BT
(D) 3TH Y D13 e

3 U 4T D! Haldh dbivsd g TR
2 3R U HINDT B fHR BT darg
400 pm & 9% TR Bt FBrear gt :

(A) 124pm
(C) 142pm

(B)132 pm
(D)128 pm

https:fbyjus.com
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4. An ionic compound has bcc structure 4. Udh TP AP P 3: Pisd g
with atoms A occupying the corners of WA ], ST BT IR A TRHT
the unit cell and B at the body center. IR € STaidh B TRHATY] Udhdh I ¥ e
The formula of ionic compound is : %ﬁﬁ@'m%ﬁmw&ﬁﬁm:
(A) AB (B) ABs (A) AB (B) ABs3
(C) AB; (D) AB4 (C) AB; (D) AB4
5. Which of the following is an example of | 5 %ﬁﬁﬁ?mqﬂﬁﬁ
diamagnetic substance? JTERU§ ?
(A) NaCl (B) CuO (A) NaCl (B) CuO
(Q) FeO (D) TiO, (C) FeO (D) TiOy
6. Diamond is an example of: 6 BRI ISEIB
(A) lonic solid (A) 3T B BT
(B) Molecular solid (B) SHTUTDH S BT
(C) Covalent solid (C) TgHIIS 31 BT
(D) Metallic solids (D) YTfcd 31 &1
7. The ratio of number of moles of solute | 7 f&a faeraq # faca o Alall v faaem &

to the total number of moles in
solution is called:

(A) molarity
(C) mole fraction

(B) molality
(D) ppm

Conductivity =............... X cell constant

(A) resistance

(B) molar conductivity
(C) conductance

(D) resistivity

Galena is an ore of :

(A) Cu
(C) Fe

(B) Pb
(D) Al

JURYT Hol Hicll Dbl T-AT & 3UTd Pl
EI'TQ'?[%

(A) IﬁFR_clT
©)

(B) HIcTerdl

e 3 (D) ppm

(A) Cu
(C) Fe

(B) Pb
(D) Al
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11

12.

13.

14.

15.

. The electronic configuration of Cr**
(Z= 24)is:

(A) [Ar]4s'3d®
(C) [Ar]4s'3d?

(B) [Ar]4s'3d?
(D) [Ar]4s°3d3

. Transition elements are :
(A) s- block elements
(B) p- block elements
(C)d- block elements
(D)f —block elements

Phenol reacts with Zn dust to give :

(A) Benzene
(C) toluene

(B) cyclohexane
(D) cyclohexene

Salicylaldehyde can be prepared by :

(A) Gattermann Koch reaction
(B) Sandmeyer’s reaction

(C) Reimer Tiemann reaction
(D) Wurtz reaction

The IUPAC name of
CHgCHzCH(OH)CHzCH=CH2 is:

(A) Hex-5-en-3-ol
(B) Hex-1-en-3-ol
(C) Hex-1-en-4-ol
(D) Hex -1-en-3-ol

Calcination is used for :

(A) chloride ore
(B) carbonate ore
(C) oxide ore

(D) sulphide ore

10. Cr**(Z= 24) 1 3AACIH GO | -

11.

12

13

14.

15

(A) [Ar]4s'3d®
(C) [Ar]4s'3d?

(B) [Ar]4s'3d?
(D) [Ar]4s°3d3

THA TA |

(A) s- SH dd
(B) p- il dcd
(C) d- SIdh dd
(D) f- &Ai® dd

. ToeTa, i 9 arftifsbar e dar g -

(A) St ORIPESIRERE
(€) (D) TG

. Afcrgasifcegse ST aohdi g

(A) Tei o sifHfosan
(B) TeATR SifHfepar

(C) ASHR - eTsH AfNfHar
(D) g AfYehaT

CH3CH,CH(OH)CH,CH=CH;

HT IUPACATH T :

(A) B9 -5-39-3-3Td
(B) BRI -1-3-3-3iTd
(C) TR -1-39-4-3{id
(D) B -1-39-3-3{Td

. R s IuEm gl

(A) FTARTZS 3D o [eld
(B) PTEC 3F & foruw

(C) 3T TP & forw
(D) PhISS 3D o oy

& fbyjus.com
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16. The number of Bravais lattices for
cubic crystals is :

(A) 3
@ 7

B 4
(D) 14
17. The radius of an atom in a body

centered cube of edge length ‘a’:

av3/2
aV3/4

(A)
€

a/2
av2/2

(B)
(D)

18. Relative lowering in vapour pressure is
equal to :

(A) molarity of solution

(B) molality of solution

(C) mole fraction of solute

(D) mole fraction of solvent
19. The molarity of the solution
containing 7.1 g of Na;SO4in 100 ml
of aqueous solution is :

(A) 1M
(©) 0.005M

(B) 0.5M
(D) 0.9M

The number of moles of NaCl in 3
litres of 3M solution is :

20.

(A) 1
< 9

(B) 3
(D) 4

16. GG fohied H a9 SITA®| &t I
ERiE

(A) 3
< 7

17. U 3f: gl °i1g Theh DIFep]
forads forR 1 TS ‘o' 8, T TRAT]
ﬁGCITE?ITﬁ:

(B) 4
(D) 14

aV3/2
av3/4

(A)
(@)

a/2
av2/2

(B)
(D)

18. gam%ammﬁ&mmwﬁm

(A) e &t AieRar &
) foTad ot giaadr &
€ foous AT iT®
(D) fodma® & A1 i &

19. 39 faqu= &1 HieRar o1 gRT forgd
100 mLH 7.1g Na,S0, § ?

(A) 1M
(C) 0.005M

(B) 0.5M
(D) 0.9M

20. 3M faaa@ & 3 faex & Nacl & Al
ﬁmsﬁ

(A) 1
< 9

(B) 3
(D) 4

https:{byjus.com
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21. The mole fraction of benzene in 21. Svoii 3R BT Egldﬂ\lilss & faeam
solution containing 30% by mass in T =i Pt GoTH Uf=IddT 30% ©
carbon tetrachloride is:( molar mass of oI BT Al &I'EZT@TIT :
benzene=78u; molar mass of (ST BT AR GUHM = 78u; T
CCly=154u) CCl, T AR ST = 154u)
(A) 0.556 (B) 0.992 (A) 0.556 (B) 0.992
(C) 0.459 (D) 0.783 (C) 0.459 (D) 0.783
22. Which of the following is not a good | 22. Eﬁﬁﬁqw:{ﬁa‘?
conductor ?
(A) Cu metal (B) NaCl (aq) (A) Cu UIq (B) NaCl (aq)
(C) NaCl (molten) (D)NaCl (s) (C) NaCl (%9) (D)NaCl (s)
23. The unit of cell constant is : 23. @HWWW%
(A) ohm™'cm™ (B) cm (A) ohm™'em™ (B) cm
(C) ohm™'ecm (D) cm™ (C) ohm™'cm (D) cm™

24. During electrolysis of aqueous CuSO,
copper is deposited at :

(A) Cathode

(B) Anode

(C) Remains in solution

(D) CuSO4 does not dissociate
25. If limiting molar conductivity of
Ca®* and CI” are 119.0 and 76.3
Scm?mol™, then the value of limiting
molar conductivity of CaCl, will be :

(A) 195.3 S cm? mol™
(B) 271.6 S cm? mol™
(C) 43.3 S cm? mol™

(D) 173.55 cm? mol™

24. ST CuSO, & faggd 3uee ¥ HIR
?J'IT:ICITGT@HT%

A) FUE R
B) TS W
C) faeaa #
D) CuSO, 3ugfed 4l gar g

Ca?* qYUT CI” &1 A TR ATl
SR 119.0 3R 76.3 Scm? mol ' B
CaCl, ® TAd AR ITaddl ghit:

—_~ o~ o~ o~

25.

(A) 195.3 S cm® mol™
(B) 271.6 S cm? mol™
(C) 43.3 S cm® mol™

(D) 173.5S cm® mol™
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26. 1f 96500 coulomb electricity is passed

through CuSQy solution, it will liberate:

(A) 31.76g of Cu
(C) 15.88g of Cu

(B) 63.5g of Cu
(D) 41.6g of Cu

27. Anomalous electronic configuration in
the 3d series are of :

(A) Mn and Cu
(C) Co and Cu

(B) Fe and Cu
(D) Crand Cu

28. The property which is not characteristic
of transition metals is:

(A) variable oxidation states.

(B) tendency to form complexes

(C) formation of coloured compounds.
(D) natural radioactivity.

29. KMnQOgis an:

(A) oxidising agent

(B) reducing agent

(C) both oxidizing and reducing agent
(D) none of the above

30. The number of isomers formed by
C4HoBr is:

(A) 8 (B) 10
@6 (D) 4

26. CuSO, & Wit faea@= ¥ 96500 C

AT YaTfed ®= TR faaiford g -
(A)31.76g Cu (B)63.5g Cu
(C) 15.88g Cu (D) 41.6g Cu

27. 3d 9Uft § ®H I Tl &1 g ifafia

gl fIarg Uefid B g ?
(A) Mn 3R Cu (B) Fe 3R Cu
(C) Co 3R Cu (D) Cr 3R Cu

28. sgﬁ'@f I HhHUl dcd o1 [ARINaT 8!

29. KMnO4 @ :

(A) FHHRD

(B) 3THRP

(C) 3NTRIIPRSD TG THRD Gl
(D) 379 Q BIs 8l

30. C4HoBr % THIGUG! Bl BT T -

(A) 8
(C) 6

(B) 10
(D) 4

https:fbyjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

BYJU'S

The Learni

ng App

31. The negative part of the addendum
(the molecule to be added) adds on
the carbon atom of the double bond
containing the least number of

(A) Huckel's Rule
(B) van't Hoff rule
(C) Saytzeff's rule
(D) Markovnikov's rule

32. Alkyl halides are immiscible in water
though they are polar because :

(A) they react with water to give
alcohols

(B) they cannot form hydrogen bonds
with water

(C) they are stable compounds and are
not reactive

(D) C-Xbond cannot be broken easily

33. Which of the following reagents can
not be used to oxidise primary
alcohols to aldehydes ?

A) CrOs in anhydrous medium

B) KMnOy in acidic medium

C) Pyridinium chlorochromate

D) Heat in the presence of Cu at 573 K

—_~ A~ o~ o~

34. Phenol when treated with excess of
bromine water gives a white
precipitate of:

A) 2, 4, 6-tribromophenol
B) o-bromophenol
C) p-bromophenol
D) bromobenzene

—_~ o~ A~ o~

hydrogen atoms. This rule is known as :

31. Tt siftrp e BT HUTHS HIT 3T
faaeft FH1e T Faar § o R grEsiom

TRATULSH B AT GATH B § | 39
A P Pea g

(A) Bhd BT TH

(B) TUC g% &1 fFaH
(C) Yoo &1 g

(D HIhicIDhIE BT FaH

TehI3d eSS o | YT IIa g |,

(A) d ST & 1Y HTHchdT HR Tehlga
CEIch
(B) T STCT o HIY GTEGIoMH MY el

GEll
(C) 3 T AT & 3R Fopamiiet et &
(D) C — X 3{Ta=~ &1 T O faaifora
el fopar S gahdr

IYTHeh Tehlgd & SHIRITDHRUT A
TfeSees 99 & ot g siftyemde
BT IUTNT el fopar o1 Tha @

32.

33.

(A) CrO; 3T HIegH H

(B) KMnO, 3Rig A1eqH o

(C) R FARIpIHE

(D) Cu ! IufUt H 573K TR TH

BT

34, foAra ot ifHfar nfded sie oia 9
P R Hg Tl &1 4d 3@y
EITE[@HT%
(A) 2, 4, 6-CTeSHITBAI
(B) o- I
Q) p-

(D) STHIESIH
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35. C¢Hs-OH + CHs-MgBr ---> A, 35. C6H5-OH + CoHs-MgBr ---> ‘A’
Here ‘A’is: ?TEJT’A'% :
(A) CeHe (A) CeHs
(B) CoHe (B) CoHe
(C) CHsOH (C©) CyHsOH
(D) CsHsBr (D) C6H5Br

https:fbyjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

	Button2: 
	Button1: 


